EJINAIOX—5

AIR MICROMETER

ASLE (RER) ZRvro0%x—4 T O XY (PAT.)
COLUMN MODEL(FLOW TYPE)AIR MICROMETER f|0WmEC®(F’AT.)

T —

i
——
= -

.
aa

ZEICTBICIE

How to fabricate multiple columns

ST EARBAEEZITOISES . EROEKRI=YF (No.3100) EEH
D7—MI&E)TOYIEINR AR THER 7OXY 7B TEET,
FTDOEEF7OXAYIIERET—/NAERAENYRELVTXE
NA=YFTY,

When performing multiple places measurements, flowmec can be
easily fabricated to multiple columns by adding to basic units of
No0.3100 required and right & left feet. The above picture shows a
three columns flowmec with a measuring head and master for
taper degree measurement.

#% T B =
golin| B B (R T|E S| HEE
B numberof | width deepth hiegth weigth
] columns mm mm mm kg
No.3100 - 34 2.2
No3t01 | 2 & | q04 38
single column
No3102 | 2B | 3 6.0
jouble columns
No3t03 | BER | 170 | 102 | 475 | 82
ree columns
4ER
No3104 | 4B | 906 104
No3105 | SER | a9 126
five columns
No. :

CHEFICEL TR (NHER) BFRETHBET IV,

%] No.3103 (3:#zX) X50001%

Indication of number of columns and magnitication is required
when placing an order.

Ex)No.3103(there columns)X5000

TOXy 73 MI LT EEERNIEREOT(LET—/NERDOTO
—MI& - THKRIBERT 2R LBBERTY .

BEY AT LIRTAXYIEEEREANYNRPTZIEDPEBRINT
WET,

Flowmec is a precision relative measuring instrument that meas-
ures changes in airflow running through a slight clearance be-
tween workpiece and measuring head as read by the expansion
of a float in taper tude. The measuring system consists of flow-
mec main body, measuning head and masters.

1 70-FOREMICBATOET, (BEREBED2%LUANTTY)

220D EEEREHMATEETYT , (FA—FEFDXKZEIL100001%-
5000f%% it F . 7O0—FENOAFIZ50001% - 200015 % 1L D 21E%H)

3 AL NDBIED/-HT7O-NMIEEDIBIEFBHIEREA,

4 EEFEOFHECORFAEDEALPHILL TV B/-HREMICE
hTWEd,

5 F—=/INEQRUHLIBBETY,

6 T/NEIRERERIGHETT, (BEGSFEEEOHAIEITO
—h BEERERYEZZT,)

7 7—MEICERIZ Y EBINT A EICENACNIMISERICHE
AT P

1 Superior stability. (less than 2% active reading range)

2 Two standard magnifications can be shared.

(The body with the blue float shares magnifications of 5,000
and 10,000 times, while the body with the black float shares
magnifications of 2,000 and 5,000 times.)

3 Since the upper damper is made of resin, it won't scratch the
float.

4 The maguification setting and zero adjusting knobs and located
separately, making operation easy.

5 Taper tubes are easy to remove.

6 Magnification standards of all taper tubes are the same.(in ca-
ses of changing magnification, change the float and scale
board)

7 Can be fabricated to compact multiple columns by adding basic
unit between feet.

DAI-ICHI SOKUHAN WORKS CO.

G-003-c



EJINAIOX—5

AIR MICROMETER

single column unit weight

®E £ 5 = &

standard magnifli:::ation timE;s X1 0000 X5000 Xzooo X1 000

B T~ & pm

measuring range 20 40 100 200

A e & pm

effective measuring range 15 30 70 150

B = pum

scale volume 0.5 1 2 5
5] mm

scale width 5 5 4 5

72 0-1F8 &5 Bl - & Gx)

float color blue black or blue black green*

& = UM AR TERED2% LA 4

max.measuring error less than 2% of effective measuring range

B E B H )  1.5L17 (JIS B75351C & B&4 T TOIE)

response time sec. Within 1.5 (value according to conditions specified in JIS B7535)

R R & & 2f8

tolerance marker 2

BEAYNEHEDO M10X0.75 il

measuringnt head connecting screw M10x0.75 male

f#t B =Z R E kPa 245~785

air pressure supplied

EAxa=yhsik MM 34 (w) X477 () X192 (D)

basic unit size

B K B MM 104 (W) X479 (H) X192 (D)

single column unit size

EAI-yIEE kg 2.2

basic unit weight

BXAXFEEE kg 3.8

1
2. 55}
3. EORAEOEH
4. BEIREER L
5. 57—\
6. HEER
7.70—hk
8.FRFIEIE

9. F&UN
10. E52N
11. 57— /&=L (L TF)
12.BBh/N—
13. 7—/NEHIZ
14.L¥a2lL—4%
15, K=V ISV T (B985 yF Ia1 M)
16. BIEA YN FA#F (M10X0.75)
17.7—h (H)
18.7—h (%)

1.column flame
2.magnification setting knob
3.zero adjustment knob
4.screw for secure the scale plate
5.taper(glass)tube
6.scale board
7.float
8. limitation indicator
9.lower damper
10.upper damper
11.tapered tube seal (upper and lower)
12.head cover
13.tapered tube holder
14.regulator
15. ball valve ($8mm with touch joint)
16.measuring head joint (M10x0.75)
17.foot (right)
18.foot (left)

(GE) B HERER1000fE RIS LS/ D ERSELVET,

@7 IVE—2 =y [ZAME/NL—4Z,INRIS R $8FYF a1 bEL
I3 ARG DF =y 7 IV OUTHISE e85y F a1 > Mt]
Q5 FFa1—T . RE2m[IDYMFTNITET IV EI =y MEKGA]

@filt

DAI-ICHI SOKUHAN WORKS CO.




